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Final Test, Form G

1.36 2.(2:5,1) 3. 74B| CB; Converse of the
Same-Side Interior Angles Theorem

4. Hypotenuse-Leg Theorem; AABC = AEDC
5.(6,~5) 6.128 cm? 7.96in.2 8.12V/5 units
9.40 square units 10.D 11.14.0in. 12.89
13.47.0cm? 14.1280m*
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15. two parallel, horizontal lines, one 3 units
above and one 3 units belowy = —2

)
5

16.144V3in2 17.150 18.F 19.65 20.7.5
21.54em? 22.63m 23.77.2 24.11
25.(-2,-2) 26.a,c,e,b,dorc,a,e b, d
27.never 28.sometimes 29. sometimes

30. SAS; AACD = ACAB 31.Yes; the length of
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30.5A5; AACD = ACAB 31.Yes; the length of
AB ishalfthe length of DE. 32.18 33.34
34.92.3in? 35.100 36.2437ft’ 37.199.0 cm®
38.6

39.

40a.1809.6 cm® 40b. 7238.2 cm®
41a.PQ 41b. LF 42.13.0 43. MW= 43.5, MX

1
=343 44.58° 45.y = —Zx + 10
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Final Test, Form K

1.45 2.(5,8) 3. Converse of the Corresponding
Angles Postulate 4. Hypotenuse-Leg Theorem
5.B(—1,-1) 6.24ft> 7.48 cm? 8. 40 units
9.100 square units 10. B 11. 13.6ft 12.4
13.120 cm? 14.1296 cm®

15. circle with center (1, 0) and radius 3
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16.40m” 17.12.5 18.H 19.6.4 20.8
21.175em? 22. 110t 23.56.6 24.7

25.(—1, —6) 26a. vertical angles 26b. CPCTC
27.always 28. sometimes 29. sometimes
30.SAS 31.1 32.55 33.325 34.24.6cm”
35.80 36.20077 cm® 37.28.5cm? 38.9.7

39. glide reflection

40a.282.7m? 40b.3142m’ 41a. BC

41b. LH 42.7. 43.AC = 413, CD = 334





